KEYWORTH CRICKET CLUB - 1994 SEASON

President: A Copson Chairman: A Elliott

Vice Presidents: B Baker, B Cannell, B Coyne, J Disney, A Gladstone, H G Gray, J Hartley,

G Heeley, A Morris, G Musson, F Palmer, M White, A Wood.

Hon Vice President: Mrs M Hinchliffe.

Gen Sec: C Anderson

1st XI Captain: T Hepburn

2nd XI Captain: H Pick

Fixture Sec: J Childs

Vice Capt: ?

Vice Capt: ?

Vice Capt: ?

Scorers: J Greaves & S Payne

Groundsman: M White. **Umpire:** J Kitching **Social Sec:** R Baker

Review of the Season:

Presentations included...

Chris Keeling Clubman of the Year Trophy - Andrew Elliott

Player of the Year – Paul Branch

2nd XI Player of the Year – Les Wilcox

Gunn Batting Trophy for the Best Average – Andrew Elliott

Highest Scorer award – Paul Keeling

2nd XI Batting Trophy for Best Average – Dennis Fletcher

Bowling Trophy for Best Average – Ian Kitchinson

Best Bowling Performance Trophy – Phil Cockerton

2nd XI Bowling Trophy for Best Average – Dave Hallam

Fielding Trophy - Richard Drury & Steve Pick



League Championship winning squad line up behind the sponsors banner (left to right) back row...Harry Pick, Steve Pick, Rob Baker, Nick Palmer, Gary Robson, Tony Newby & Geoff Baker.

front row...John Childs, John Dring, Richard Drury, Alex Ball, Tim Hepburn (capt), Steve Daft, Ernie Lay, Paul Branch & Ian Kitchinson.

Youngers Nottinghamshire Village Cricket LEAGUE Table – DIVISION 1:

		Pld	W	L	Tie	NR	Pts
1	<u>KEYWORTH</u>	18	13	3	0	2	203
2	CHILWELL	18	12	5	0	1	196
3	THURGARTON	18	10	6	1	1	176
4	RAVENSHEAD	18	10	7	0	1	168
5	CAYTHORPE	18	7	8	1	2	154
6	STANTON by Dale	18	8	8	0	2	147
7	HICKLING	18	8	8	0	2	146
8	NEWSTEAD ABBEY	18	7	9	0	2	142
9	BOTTESFORD	18	6	10	0	2	120
10	STOKE BARDOLPH	18	0	17	0	1	60

1st XI LEAGUE MATCH RESULTS...

07.05.94	STANTON by Dale	A	Lost by 85 runs
14.05.94	STOKE BARDOLPH	H	Won by 8 runs
21.05.94	NEWSTEAD ABBEY	A	Match abandoned
28.05.94	HICKLING	Н	Won by 9 wkts
04.06.94	CAYTHOPRE	H	Won by 4 runs
11.06.94	CHILWELL	A	Won by 2 wkts
18.06.94	RAVENSHEAD	A	Lost by 32 runs
25.06.94	THURGARTON	H	Lost by 5 wkts
02.07.94	BOTTESFORD	A	Won by 10 wkts
09.07.94	STANTON by Dale	Н	Won by 4 wkts
16.07.94	STOKE BARDOLPH	A	Won by 6 wkts
23.07.94	NEWSTEAD ABBEY	Н	Won by 4 wkts
30.07.94	HICKLING	A	Won by 17 runs
06.08.94	CAYTHORPE	A	Won by 2 wkts
13.08.94	CHILWELL	Н	Won by 3 wkts
20.08.94	RAVENSHEAD	Н	Won by 3 wkts
27.08.94	THURGARTON	A	Won by 6 wkts
03.09.94	BOTTESFORD	Н	Match abandoned

Youngers Nottinghamshire Village Cricket League SENIOR LEAGUE CUP...

HIGHEST SCORE: 212-6 KEYWORTH v NEWSTEAD ABBEY (23.07.94)

LOWEST SCORE: 85 KEYWORTH v STANTON by Dale (07.05.94)

1st XI BATTING Averages (qualification : 6 Completed Innings)

5 · · ·	Matches	Innings	Not Out	HS	Total Runs	Ave
A ELLIOTT	18	17	1	99	502	29.53
J DRING	17	14	3	52	257	23.36
P BRANCH	18	15	4	46	240	21.82
T HEPBURN	16	13	3	52	217	21.70
T NEWBY	16	16	3	55	251	19.31
J CHILDS	17	16	3	32	237	18.23
R A BAKER	13	10	2	35	107	13.38
R DRURY	10	9	1	29*	102	12.75
I KITCHINSON	11	10	3	18	47	6.71
P COCKERTON	13	10	2	10	30	3.75
Also Batted						
K HITCHCOCK	2	2	1	48*	61	61.00
G BAKER	4	4	0	49	126	31.50
E LAY	6	5	0	29	77	15.40
D BALDREY	1	1	0	14	14	14.00
A BALL	10	4	1	10	14	4.66
S MEEK	1	1	0	3	3	3.00
T JENKINSON	10	3	2	1*	2	2.00
R KITCHING	2	2	1	1*	1	1.00
S DAFT	4	2	2	4*	5	
T INGHAM	1	0	0	0	0	
P LAY	2	2	2	17*	20	
I RANDALL	1	1	1	0*	0	

Best off the Bat.	••						
Runs	Player	(Opposition		Venue	Da	te
99	A ELLIOTT	V	NEWSTEAD A	ABBEY	Н	23.0	7.94
90	A ELLIOTT	V	HICKLING		A	30.0	7.94
83	A ELLIOTT	V	STOKE BARD	OLPH	A	16.0	7.94
Leading "6" Hit	ters of the season						
J CH	ILDS	9					
P BR	ANCH	5					
R DR	URY	3					
A EL	LIOTT	3					
K HI'	ГСНСОСК	3					
R A I	BAKER	1					
	CHINSON	1					
	WBY	1					
Best Batting Par	tnerships of the Seaso	n					
Wkt Run				Opposit			D ate
1 st 78*			Y	BOTTE			07.94
2 nd 94	A ELLIOTT & J I				EAD ABBEY		07.94
3 rd 97	A ELLIOTT & G			HICKL			07.94
4 th 59	G BAKER & P BI				SARTON		06.94
5 th 62	P BRANCH & T I			CHILW			08.94
6 th 31	J CHILDS & T HI			CAYTH	-		07.94
7 th 33	J DRING & I KIT				ISHEAD		08.94
8 th 28	P BRANCH & R			CAYTH			06.94
9 th 23*			SON	CHILW			06.94
10^{th} 4	A BALL & T JEN	KINSON		STOKE	BARDOLPH	14.	05.94
1st XI ROWI IN	G Averages (qualifica	tion & wicl	zets or 60 over	·c)			
1 AI DOWLIN	G Averages (quamica	Overs	Maidens	Runs	Wkts	Ave	
I KIT	CHINSON	58	10	187	16	11.69	
	PBURN	130.3	29	379	31	12.23	
	WBY	139.3	21	422	32	13.19	
	BAKER	103	17	359	21	17.10	
	ANCH	102	26	315	17	18.53	
	CKERTON	117	21	341	18	18.94	
Also bowled				0.1	10	10.,	
		Overs	Maidens	Runs	Wkts	Ave	
A BA	LL	36.1	5	128	8	16.00	
R DR		26.5	0	107	2	53.50	
	ГСНСОСК	8.3	3	19	2	9.50	
	ГCHING	6.3	0	29	1	29.00	
Best with the Ba				-		-	
	gures Player		Opposit	tion		Venue	Date
	-13 P COCKER	TON	V HICKL			Н	28.05.94

1st XI CATCHING & STUMPING:

	Catches	Stumpings
J DRING	12	1
R DRURY	10	
T HEPBURN	8	
S DAFT	6	0
P BRANCH	5	
A BALL	4	
P COCKERTON	4	
A ELLIOTT	4	
T JENKINSON	4	
K HITCHCOCK	3	
I KITCHINSON	3	
R A BAKER	1	
J CHILDS	1	
R KITCHING	1	
S MEEK	1	
T NEWBY	1	

2nd XI LEAGUE MATCH RESULTS...

07.05.94	WHATTON	Н	Won by 1 wkt
14.05.94	COTGRAVE	A	Lost by 13 runs
21.05.94	WILLOUGHBY	Н	Match abandoned
28.05.94	LAMBLEY	A	Lost by 63 runs
04.06.94	SUTTON BONNINGTON	A	Lost by 15 runs
11.06.94	RUDDINGTON II	Н	Won by 131 runs
18.06.94	WOOLSTHORPE	Н	Won by 67 runs
25.06.94	EAST BRIDGFORD	A	Won by 26 runs
02.07.94	ORSTON	Н	Lost by 8 wkts
09.07.94	WHATTON	A	Lost by 101 runs
16.09.74	COTGRAVE	Н	Lost by 7 wkts
23.07.94	WILLOUGHBY	A	Lost by 7 runs
30.07.94	LAMBLEY	Н	Lost by 89 runs
06.08.94	SUTTON BONNINGTON	Н	Lost by 8 wkts
13.08.94	RUDDINGTON II	A	Lost by 6 wkts
20.08.94	WOOLSTHORPE	A	Lost by 3 runs
27.08.94	EAST BRIDGFORD	Н	Lost by 23 runs
03.09.94	ORSTON	A	Lost by 8 wkts
	14.05.94 21.05.94 28.05.94 04.06.94 11.06.94 18.06.94 25.06.94 02.07.94 09.07.94 30.07.94 06.08.94 13.08.94 20.08.94 27.08.94	14.05.94 COTGRAVE 21.05.94 WILLOUGHBY 28.05.94 LAMBLEY 04.06.94 SUTTON BONNINGTON 11.06.94 RUDDINGTON II 18.06.94 WOOLSTHORPE 25.06.94 EAST BRIDGFORD 02.07.94 ORSTON 09.07.94 WHATTON 16.09.74 COTGRAVE 23.07.94 WILLOUGHBY 23.07.94 LAMBLEY 06.08.94 SUTTON BONNINGTON 13.08.94 RUDDINGTON II 20.08.94 WOOLSTHORPE 27.08.94 EAST BRIDGFORD	14.05.94 COTGRAVE A 21.05.94 WILLOUGHBY H 28.05.94 LAMBLEY A 04.06.94 SUTTON BONNINGTON A 11.06.94 RUDDINGTON II H 18.06.94 WOOLSTHORPE H 25.06.94 EAST BRIDGFORD A 02.07.94 ORSTON H 09.07.94 WHATTON A 16.09.74 COTGRAVE H 23.07.94 WILLOUGHBY A 30.07.94 LAMBLEY H 06.08.94 SUTTON BONNINGTON H 13.08.94 RUDDINGTON II A 20.08.94 WOOLSTHORPE A 27.08.94 EAST BRIDGFORD H

South Nottinghamshire Village Cricket LEAGUE Table – DIVISION 2: Pld W L Tie NR Pt

		Pld	W	L	Tie	NR	Pts
1	SUTTON BONNINGTON	18	12	4	1	1	209
2	COTGRAVE	18	13	4	0	1	200
3	LAMBLEY	18	9	8	0	1	166
4	ORSTON	18	9	6	2	1	165
5	WOOLSTHORPE	18	9	8	0	1	154
6	WHATTON & ASLOCKTON	18	8	7	1	2	152
7	EAST BRIDGFORD	18	7	9	0	2	143
8	WILLOUGHBY	18	6	10	0	2	140
9	KEYWORTH II	18	4	13	0	1	108
10	RUDDINGTON II	18	4	12	0	2	105

	TTINC	Avorogos (guali	2 nd XI BATTING Averages (qualification: 8 Completed Innings)					
2 AIDA	.11111111111111111111111111111111111111	Averages (quan	Matches	Innings	Not Out	HS	Total Runs	Ave
	D FLE	ICHER	11	11	0	69	314	28.55
	ELAY		12	12	1	74	263	23.91
	P KEE		9	9	0	116	208	23.11
		HINSON	8	8	0	46	139	17.38
	D BAL		15	15	0	88	245	16.33
	S PICK		16	16	2	45	191	13.64
	H PICK		14	14	5	26	108	12.00
	D HAL		12	12	0	34	141	11.75
				16	2	3 4 16*		7.71
	S DAF		16 12	12	1	23	108 52	4.72
	J BEET					23 9*		
	L WILC		12	11	5		22	3.67
A1 D 44	N PAL	MEK	13	13	1	8	24	2.00
Also Batto	e a		M. (.1	T	N. O.	TIC	T-4-1 D	A
	CACE	17	Matches	Innings	Not Out	HS	Total Runs	Ave
	S MEE		3	3	0	88	129	43.00
	J BUTT		6	6	0	33	68	11.33
	A BAL		7	7	1	12*	55	9.17
	T INGI		6	6	0	18	41	6.83
		CHINSON	3	3	1	11	14	7.00
	P LAY		4	2	0	6	11	5.50
		HBONE	1	1	0	3	3	3.00
	J BALI		2	2	0	3	3	1.50
	S A PIG		1	1	0	0	0	0.00
	I RANI	DALL	2	1	1	0*	0	0.00
Best off th								
		Player		Opposition			Venue	Date
	116	P KEELING	V	WOOLS	ΓHORPE		Н	18.06.94
	88	D BALDREY	V	RUDDIN	GTON II		Н	11.06.94
	88	S MEEK	V	WHATTO	ON & ASLO	OCKTON	Н	07.05.94
	74	E LAY	V	RUDDIN	GTON II		Н	11.06.94
69 D FLETCHER V RUDDINGTON II A 13.08.94 Leading "6" Hitters of the season							H A	11.06.94 13.08.94
Leading "	69	D FLETCHER	V					
Leading "	69	D FLETCHER rs of the season	V					
Leading "	69 6" Hitte	D FLETCHER rs of the season	7					
Leading "	69 6" Hitte S PICK	D FLETCHER rs of the season DREY	V					
Leading "	69 6 ° Hitte S PICK D BAL J BUTT	D FLETCHER rs of the season DREY	V					
Leading "	69 6" Hitte S PICK D BAL J BUTT I KITC	D FLETCHER rs of the season C DREY FERY HINSON	V 7 6 3 3 3					
Leading "	69 6" Hitte S PICK D BAL J BUTT I KITC D HAL	D FLETCHER rs of the season DREY ERY HINSON LAM	V 7 6 3 3 2					
Leading "	69 S PICK D BAL J BUTT I KITC D HAL S MEE	D FLETCHER rs of the season DREY ERY HINSON LAM K	V 7 6 3 3 3					
Leading "	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI	D FLETCHER rs of the season DREY ERY HINSON LAM K LING	V 7 6 3 3 2 2 2					
	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK	D FLETCHER rs of the season DREY FERY HINSON LAM K LING	V 7 6 3 3 2 2 2 2 1					
	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK	D FLETCHER rs of the season DREY ERY HINSON LAM K LING	V 7 6 3 3 2 2 2 2 1		GTON II	n		13.08.94
Best Batti Wkt	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs	D FLETCHER rs of the season DREY FERY HINSON LAM K LING C Berships of the S Partners	7 6 3 3 2 2 2 1 Season	RUDDIN	GTON II Opposition			13.08.94 Date
Best Batti	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83	D FLETCHER rs of the season DREY FERY HINSON LAM K LING cerships of the S Partners E LAY & D F	7 6 3 3 2 2 2 2 1 Season	RUDDIN	Opposition WOOLST	HORPE		Date 18.06.94
Best Batti Wkt 1st 2nd	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83 141	D FLETCHER rs of the season DREY FERY HINSON LAM K LING cerships of the S Partners E LAY & D F E LAY & D F	7 6 3 3 2 2 2 2 1 Season	RUDDIN	Opposition WOOLST RUDDING	HORPE GTON II		Date 18.06.94 11.06.94
Best Batti Wkt 1st 2nd 3rd	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partn Runs 83 141 81	D FLETCHER rs of the season DREY TERY HINSON LAM K LING Terships of the S Partners E LAY & D F E LAY & D F D FLETCHER	7 6 3 3 2 2 2 2 1 Season LETCHER SALDREY R & D HAL	RUDDIN	Opposition WOOLST RUDDING RUDDING	THORPE GTON II GTON II		Date 18.06.94 11.06.94 13.08.94
Best Batti Wkt 1st 2nd 3rd 4th	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83 141 81 33	D FLETCHER rs of the season DREY TERY HINSON LAM K LING Terships of the S Partners E LAY & D F E LAY & D F E LAY & D E D FLETCHEF I KITCHINSO	7 6 3 3 2 2 2 1 Season LETCHER SALDREY R & D HAL DN & J BU'	RUDDIN LAM ITERY	Opposition WOOLST RUDDING RUDDING EAST BR	HORPE GTON II GTON II IDGFORD		Date 18.06.94 11.06.94 13.08.94 25.06.94
Best Batti Wkt 1st 2nd 3rd 4th 5th	69 Fe' Hitte S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK INTERIOR PART Runs 83 141 81 33 49	D FLETCHER rs of the season DREY TERY HINSON LAM K LING Terships of the S Partners E LAY & D F E LAY & D F E LAY & D F I KITCHINSO D BALDREY	7 6 3 3 2 2 2 1 Season LETCHER SALDREY & D HAL DN & J BU' & J BEET	RUDDIN LAM ITERY	Opposition WOOLST RUDDING RUDDING EAST BR LAMBLE	HORPE GTON II GTON II IDGFORD Y	A	Date 18.06.94 11.06.94 13.08.94 25.06.94 28.05.94
Best Batti Wkt 1 st 2 nd 3 rd 4 th 5 th 6 th	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83 141 81 33 49 34	D FLETCHER rs of the season DREY FERY HINSON LAM K LING Partners E LAY & D F E LAY & D B D FLETCHER I KITCHINSO D BALDREY S MEEK & N	V 7 6 3 3 2 2 2 1 Season LETCHER SALDREY R & D HAL DN & J BU' & J BEET PALMER	RUDDIN LAM ITERY ON	Opposition WOOLST RUDDING RUDDING EAST BR LAMBLE WHATTO	THORPE GTON II GTON II IDGFORD Y ON & ASLO	A	Date 18.06.94 11.06.94 13.08.94 25.06.94 28.05.94 07.05.94
Best Batti Wkt 1st 2nd 3rd 4th 5th 6th 7th	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83 141 81 33 49 34 31	D FLETCHER rs of the season DREY FERY HINSON LAM K LING C Partners E LAY & D F E LAY & D F E LAY & D B D FLETCHEF I KITCHINSO D BALDREY S MEEK & N S MEEK & D	V 7 6 3 3 2 2 2 1 6eason LETCHER ALDREY R & D HAL DN & J BU' & J BEET PALMER HALLAM	RUDDIN LAM ITERY ON	Opposition WOOLST RUDDING RUDDING EAST BR LAMBLE WHATTO	THORPE GTON II GTON II IDGFORD Y ON & ASLO ON & ASLO	A A DCKTON DCKTON	Date 18.06.94 11.06.94 13.08.94 25.06.94 28.05.94 07.05.94
Best Batti Wkt 1st 2nd 3rd 4th 5th 6th 7th 8th	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEE H PICK ng Partr Runs 83 141 81 33 49 34 31 40	D FLETCHER rs of the season DREY FERY HINSON LAM K LING C Partners E LAY & D F S MEEK & N S MEEK & S	V 7 6 3 3 2 2 2 1 6eason LETCHER ALDREY R & D HAL DN & J BU' & J BEET PALMER HALLAM DAFT	RUDDIN LAM ITERY ON	Opposition WOOLST RUDDING RUDDING EAST BR LAMBLE WHATTO WHATTO	THORPE GTON II GTON II IDGFORD Y ON & ASLC ON & ASLC	A A DCKTON DCKTON	Date 18.06.94 11.06.94 13.08.94 25.06.94 28.05.94 07.05.94 07.05.94
Best Batti Wkt 1st 2nd 3rd 4th 5th 6th 7th	69 S PICK D BAL J BUTT I KITC D HAL S MEE P KEEI H PICK ng Partr Runs 83 141 81 33 49 34 31	D FLETCHER rs of the season DREY FERY HINSON LAM K LING C Partners E LAY & D F E LAY & D F E LAY & D B D FLETCHEF I KITCHINSO D BALDREY S MEEK & N S MEEK & D	V 7 6 3 3 2 2 2 1 Season LETCHER SALDREY R & D HAL DN & J BU' & J BEET PALMER HALLAM DAFT AY	RUDDIN LAM ITERY ON	Opposition WOOLST RUDDING RUDDING EAST BR LAMBLE WHATTO	THORPE GTON II GTON II IDGFORD Y ON & ASLC ON & ASLC Y Y	A A DCKTON DCKTON	Date 18.06.94 11.06.94 13.08.94 25.06.94 28.05.94 07.05.94

2 nd XI BOWLING Averages (qualificate	tion 8 wicl	kets or 60 ove	rs)		
	0	Maidana	D	XX71-4 c	

	Overs	Maidens	Runs	Wkts	Ave	
D HALLAM	111	13	330	28	11.79	
H PICK	136.1	22	484	34	14.24	
S PICK	144.5	29	459	25	18.36	
A BALL	65.2	14	221	12	18.42	
I KITCHINSON	53	5	218	10	21.80	
Also bowled						
	Overs	Maidens	Runs	Wkts	Ave	
D BALDREY	2	1	6	1	6.00	
L WILCOX	1	0	11	1	11.00	
S MEEK	23	4	96	4	24.00	
J BEETON	23	1	113	4	28.25	
N PALMER	12.2	0	75	1	75.00	
J BUTTERY	22	0	100	1	100.00	
S DAFT	1.4	0	16	0		
T INGHAM	30.4	2	130	0		
ELAY	3	0	12	0		
M KITCHINSON	8	0	65	0		
Best with the Ball						
Figures Player		Opposition			Venue	Date
6-32 H PICK	V	SUTTON BO	NNINGTO	N	A	04.06.94
6-34 S PICK	V	RUDDINGTO			H	11.06.94
5-37 D HALLA	M V	WHATTON &	& ASLOCK	TON	A	09.07.94
5-39 D HALLA	M V	WOOLSTHO			A	20.08.94
5-54 H PICK	V	WOOLSTHO	RPE		H	18.06.94

2nd XI CATCHING & STUMPING:

	Catches	Stumpings
S DAFT	11	1
S PICK	9	
L WILCOX	6	
A BALL	5	
H PICK	5	
J BEETON	4	
D FLETCHER	4	
D HALLAM	4	
P KEELING	2	
N PALMER	2	
E LAY	1	0
S MEEK	1	

MATCH RESULTS in	NOTTINGHAM EVENING	LEAGUE Division 2:
MIAICH KESULIS III		J LEAGUE DIVISION 2.

PARLIAMENT STREET	A Won by 1 run
BAIN CLARKSON	H Won by 9 runs
CAYTHORPE	A Won by 10 wkts
ROYAL HUNT	H Lost by 4 wkts
BULWELL	A Lost by 53 runs
ELLERSLIE	H Won by 9 wkts
PARLIAMENT STREET	H Won by 2 runs
BAIN CLARKSON	A Won by 5 wkts
CAYTHORPE	H Won by 2 runs
ROYAL HUNT	A Won by 8 wkts
ELLERSLIE	A Won by 30 runs
BULWELL	H Won on forfeit
	BAIN CLARKSON CAYTHORPE ROYAL HUNT BULWELL ELLERSLIE PARLIAMENT STREET BAIN CLARKSON CAYTHORPE ROYAL HUNT ELLERSLIE

Midland Bank Nottinghamshire Village Cricket League SENIOR LEAGUE CUP...

1 st rd	02.06.94	KEGWORTH	A	Lost by 26 runs
2 nd rd	08.06.94	PLUMTREE	A	Lost by 7 Wkts

LEAGUE TABLE:

		Pld	W	L	Tie	Bns	Pts	
1	<u>KEYWORTH</u>	11	9	2	0	10	64	
2	ELLERSLIE	12	8	4	0	14	62	
3	ROYAL HUNT	12	7	5	0	12	54	
4	CAYTHORPE	12	7	5	0	12	54	
5	PARLIAMENT STREET	12	4	8	0	7	31	
6	BULWELL	11	3	8	0	9	27	
7	BAIN CLARKSON	12	3	9	0	7	25	

EVENING LEAGUE XI BATTING Averages (qualification : 5 Completed Innings)

	Matches	Innings	Not Out	HS	Total Runs	Ave
S KING	10	10	2	78*	389	48.63
J PAVIS	5	5	2	30*	83	27.66
W DESSAUR	9	9	1	61	209	26.13
M DRING	5	5	2	23	57	19.00
T HEPBURN	11	7	2	30*	86	17.20
J DRING	10	9	2	36	104	14.86
T NEWBY	8	7	0	28	67	9.57
J CHILDS	8	6	0	22	47	7.83
R A BAKER	9	6	0	11	31	3.88
I KITCHINSON	9	6	2	7	10	2.50
Also Batted						
T WHITE	3	3	1	59*	68	34.00
S MEEK	3	2	0	30	46	23.00
E LAY	4	2	0	5	8	4.00
A ELLIOTT	2	2	0	2	2	2.00
A BALL	9	3	3	11*	21	
D BALDREY	3	2	2	9*	9	
S DAFT	8	1	1	1*	1	
N PALMER	8	2	2	1*	1	
T JENKINSON	1	0	0	0	0	

Best off the Bat	Best	off	the	Bat
------------------	------	-----	-----	-----

Runs	Player		Opposition	Venue	Date
78*	S KING	V	PARLIAMENT STREET	Н	28.06.94
74	S KING	V	BAIN CLARKSON	A	05.07.94
65	S KING	V	ELLERSLIE	Н	21.06.94
61	W DESSAUR	V	ELLERSLIE	A	09.08.94

Best Batting Partnerships of the Season

Wkt	Runs	Partners	Opposition	Date
1^{st}	96	S KING & J PAVIS	ELLERSLIE	18.06.94
2^{nd}	86	S KING & J DRING	BAIN CLARKSON	11.06.94
1^{st}	82	S KING & T NEWBY	PARLIAMENT STREET	13.08.94
1^{st}	80	S KING & W DESSAUR	ELLERSLIE	25.06.94
$3^{\rm rd}$	79	S KING & M DRING	PARLIAMENT STREET	28.05.94
1st	70	S KING & J PAVIS	CAYTHORPE	07.05.94

EVENING LEAGUE XI BOWLING Averages (qualification 6 wickets or 20 overs)

	Overs	Maidens	Runs	Wkts	Ave	
T NEWBY	27.2	1	142	10	14.20	
A BALL	25	0	229	13	17.62	
T HEPBURN	23	0	219	9	24.33	
I KITCHINSON	36.5	0	297	12	24.75	
R A BAKER	36	0	308	7	44.00	
Also Bowled						
S KING	9	0	64	5	12.80	
S MEEK	3	0	41	2	20.50	
T WHITE	4	0	19	1	19.00	
Best with the Ball						
Figures Play	ver er	Opposition			Venue	Date
4-16 T N	EWBY V	CAYTHORP	E		A	24.05.94

V PARLIAMENT STREET

24.05.94

11.05.94

A

EVENING LEAGUE XI CATCHING & STUMPING:

4-29

	Catches	Stumpings
R A BAKER	6	
S DAFT	3	2
J CHILDS	2	
J DRING	2	
S KING	2	
I KITCHINSON	2	
A BALL	1	
M DRING	1	
N PALMER	1	
J PAVIS	1	
T WHITE	1	

R A BAKER

Keyworth players take a day off at the Trent Bridge Test Match, left tp right along the back row are Steve Daft, Tim Hepburn, Ian Driver, Rob Baker, Barry Newby and above him his brother Tony Newby. Elder statesman John Dring can be seen hiding in a sitting position between Driver & Baker.

